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Subject Code: AAS0203         Max. Mks. :  30

Subject: Engineering Mathematics-II         Time          :  50 Minutes

General Instructions:

All questions are compulsory.

Question No. 1 to 15 are subjective type question carrying 3 marks each. Attempt any 10 out of 15 questions.

Q.No
Question 

Content
Question Image Category

Sub 

Category
Marks

Options 

Randomization
Type Difficulty

1
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

2
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

3
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

4
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

5
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

6
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant
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Q.No
Question 

Content
Question Image Category

Sub 

Category
Marks

Options 

Randomization
Type Difficulty

7
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

8
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

9
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

10
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

11
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

12
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

13
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

14
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

15
Attempt any 

10 questions
10 x 3=30 3 Subjective Brilliant

Sanjeev walks 10 m towards the South. Turning to the left, he walks 20 m and then moves to 

his right. After moving a distance of 20 m, he turns to the right and walks 20 m. Finally, he 

turns to the right and moves a distance of 10 m. How far and in which direction is he from 

the starting point? &nbsp;

Write the statement of Stoke's theorem.


